Ay

E|
or

K-
o
mjo
~O

ol
o

2023sHH &

a

0
ar

<0
ol

)
)
7

or
El
ni0
ar

<0
ol

N H ojr
) I Ol
% Z0 U0
i o)
) ~ Kl
5
T oT
o IR
= W )
m mﬂ_ m o= =+
R 3| W %__
of |7 m_ ~
= | el
BRI
10| o 0
ar [0 o ._m._
=) %) O o
— ~ __oo —
i 0 WI_ = of
ar | gr . X
D |z Mﬁ R
®ojgy A
SIHEE
Bo =]
4 < | Bak
=< T
a1 air m__” .5
cREE 2
EREE
~ KO 3y
> Koak <
_ < =
M._ Ko %0 -
R0 L 0=
Rl g U
W ~ o]
[0 BT 0
[0 of 7D
a2 0
il o J
0o 9 ®
o1 IS
0 =
K 0 =
Kt

wihs e

2.

- ol
= S| =
SEE
SIS
__o_p W
GLAE | &
I BT E g
R BN E 2 g
or Y )
wl
B | g
S
| o
T
o | 2| o | K
=._ —
_.|HA__H 0 M.m M_._-
20| <k ol
=
ol an
0 z
B
'Y
,_o.A IT.AI _)T uI
ﬂ | x| TR
Kt ol =)
oJ =
~ )
_IIH <
30
M_V qr | ®0
i q |
0 | ol <+
LI A
= or U.o KJ
ENE ot

(=}
or
OF
E

RO

i0J

Rr

J

8

i

oJ

W)

)

0o
0

| J12 HE(&EL, N3,

ol

Il

i,

0

=2l 0f

— = —

- HYZHE GIOIE Y

=}
K0
ok

iof
H

H
RO

ol

040
-]
41D
ol
<k
T
ok

oir
<+
1l

oo
53

o
m
<+

kd




80
0K
a1
<+

I EF

410

ol

)

29

100 %

0

i0J
ol
n0

o

o
un

ok

£l




ok

fall]

-

0

_J
50
Rr
0

JIEf

_x__=

45%

dHE

55%

=

I IAF

4 J}5HCH
FHI(25%), 153X D

IL
=]

ez

FRIS (55%) 2t &4 (45%)

- 452 12

FXI(30%)

=
ol

A

=
~J

Kt

[
K-

P

CuWE2 0

© 8

471

g

&= =2 =4
D13+ 38 + 156 = 458

g

- BH=

At

My

Ko

o
ol
m
8o
ok

<
or

o=t 44

LiE2l 0l

ot

- JtAol O

70
e
70

]

o
%

K0
3l
<k

o
o

S SAE Bl

=
E

0o
<

D

ibJ
1]
_uu_
K0
ok
x

-

KO
3

Al

wil,

10.

o0

[0
E
Ie]
Ul

ol

(POFIIY ) E

N\

i0)

w0

20

pom
10!

K0

i0)

00

A

[

H

20
ol

Z0Hs

12.

o =241 0

=
=

) N[N




Fig Z2AE

13.

00

80
= T
o =y
= &r
o0 on
= Oh Oh = Oh O
ol <0 <0 O <0 <0
<+ 30 30 = 30 = 30
= o Ho i o b Ho
& Rr ™ | oD Rr N Rr - Rr
- = o | o = o | RO = mg | Ul =
- o <& o < |5 ) ~ | RO o
oo =< or | 00 | o1 | = ol | = |o | = Wi |o =
= |z || _- B | H A - B S| R0 - NI
4”20 M_'_ T | &r | 20 M_'_ T | & | 20 M._ aT| .|z M_'_
30| 3|80 | 2|00 ||| 80| |00 | A || 80| oo A|30 |80 | |00
Fl<F W | R ||| HW| ||| |W| |5 |a)|K]|H|S| s
({0 o0 o0 o0
M| = | 8| M| = | 8| M| = | 8| M| | 30|
)3 Or (40 | D0 | R | == | OF | <0 |20 | R | = |[OF 40|20 | R |= |0 |<0|20 | R |=
M- | <D | dr | & | 3D | &= | <0 | wr | 8D | D | & |40 |wor | 8D | &D | 7= [ 4D | wr | 3D | 8D | /=¥
wof | o | <F | <F wof | o | < | <F wof | O3 | <F | <F wof | OF | <F | <F
Kk Kk Kk Kk
=4 =4 =4 >y
Kk Kk KF KF KF
— (aN) [ap] <t




Fig Z2AE

13.

r
= of
— [
= _r
D [0
< )
60 7o) =
= = =
Y _ =
= = Li
= = Rmno oJ
. 3| |=
= or 0
_ — 00
O - O o of = 30 O
ok | or 20 T 20 % 20 = B0 20
o1 ol B0 T B0 = 80 KF R0 80
| = Ho i Ho i Ho ~ ) Ho
| | ol ol =
= | & Rr = Rr =~ Rr x © Rr
| onr = rr = rr = = P . =
R . . = |l |
= A % = gl o gl w22 i
| 20| o | = Tlo = Tlar | = I A I e I B I S
ur |our | Ao . o | = | O . D Ro . = =R = 20 .
SR R R Y 0 | | Lo L O = o= =80 1B0 g
of |or | 20 | & o] 20| 2L ~ o | 2| & RO | &= | O | oW | &= | R |R0|%0| X
M mle | D | w2 | w =8 2w ANl ®| ™8|
ol |a | W || |al| M| W|S|& || |H| | |35 |K |K|=|/™ |K|al|al|W| | &
o0 o0 o0 o0 o0
H | = | 8| M H | = | #| | = | # | W | = | # | | = | # | W
B or D | 00 | R | = | O | <D |30 | R | &= |0 |40 |20 | < | |0 |<D |30 |~ |&= [0 |<40|0 |~ |X
s D | wr | 8D | BD | /3 | 4D | dor | 8D | &D | & [ 4D | wer | 3D | &) | =y | <D | dr | 3D | &0 | &y | <D | wr | &0 | & |
or | o | <k | <F o] od | < | - o] od | <k | - wro| od | <k | - ol od | < | -
Kk Kk Kk Kk Kk
=3 ™4 ™4 ™4 ™4
Kk Kk Ki Kk KF Ki
Ye) «© [ [o0] (@)]




Fig Z2AE

13.

0l
N
B
=
o)
=
o1
Bl
N K0
70 H =
Ok o1 =
_ l -
o] — - i)
oF M mm R0
00 w Y
— = i
B ) - 0
= R0 m Al
= - ol
= . L 0 =
3r ol 2
30 . _
= Wk =
ok T . EN
RI 0
Ok = 104
= ol T i 30 O i E Oh
<0 — <0 KiJ <0 <0 <0
ol 30 o 30 o7 30 30 H 30
= o _ o ) 1o 30 | 4 o %0 o
o . o | - N N . = |2 " 5l .
b Kr w0 | OF Kr ol Kr o ~ Kr = Rr
& = | B0 = N = — | T = ~ =
= _I_.AI bl T = o — -
. &l W &l o) | ® &l 5|2 &l ol | oo &l
i ol | < ok ol | < | M oT | = =2 o= H| 3 | o | <
- = - = _Ih— = 9 - = =
= ~O R = | = | n0 - ~O R = | = | n0 - ~O R
3N o o N .__o .__o N ~ ~ S H_._ __O._ S
ol 20 _om RO|RD |20 | RIR| 2|5 A0 | MO | 20| %0 | I (i
B | B0 B0 | | oo |/ |/ |8 | |00 M0 MA0| B | T |o0 || |8 | |0|a| M 30 | o | ob
R |RK|H | & |8 |a)|al|H|S |8 |a)|al|H|S|& |k |k |[H|S|S|Z| R | || 3
o0 o0 o0 o0 o0
M| = | #| M M| = | 80| M M| = | 80| M| = | 80| M| = 7|
B or | <o D0 | R | = | OF [<D| 20| R | =[O |40 |00 | R |=/ |0 |<0]|D |R|X=<]|O il 0 R | =
M- | <D | dr | 30 | &0 | 7= | <D | fr | &0 | &0 | /= | <D | dor | &0 | B0 | = | D [ | 8D | &0 | = | <D | ol 3l | 3D |
oo | <F | <k o o | <k | < o o | <k | < o o | <k | < oo ol | <k | <
K K K K K
=4 =4 =4 =4 =4
K+ KF Kk Kk KF KF
o — (aN) [ap] <t




Fig Z2AE

13.

~O
<
0.
00 =
=
= 00
3
<
or
N
[=4
K
=
3
=
=
= |n|§
slE | R =
RO | |0 o | S
Ko |av | = | = | ol
m| = |83~
o0 00
M| = | 1| M| = | 1|
W O|Or |40 | n0 | R | == |OF [ <D |20 | R | =
M | <D | dor | &0 | &0 | 7= | D | wr | 3D | 8D | ™
o | of | <F | <F or | of | <F | <F
K K-
= -
K
K+ M_W Kk




